A #FH R — K

AFLBAT A PR 29E5H29H (H) \ .
HEAL (P K2R %

4 4 AR EH PEFLEE T EAmAS AR
) R AR T (% (LT 44) (BR) IRASEERR 2, 700, 000 2,970, 000 90. 91%
THKE RRFHEHTFE (W — 2) Egﬁg%ﬁ&%ﬁ)ﬁﬁ ) By 5, 000, 000 6, 390, 000 78. 25%
THAKEIRRGEB R (Wir—1) ) Bz o=71) 7 14, 486, 000 18, 510, 000 78. 26%
R NEEIN
KB EBRTE (— AR ) a—kwvaryri 11, 500, 000 13, 590, 000 84. 62%
b BAE S




A L B @ R E
1 | BURIFKEBRRIE T (A ILRT4%)
A HLHFE A B FRK 29 £ 5 H 29 R 9:30 RO Gk | BABS AL
A A BATHET | Akt X — S T ® R | MEREER
AR (1) TEAAE (1) R AR RAf RS () VEFLAE (1)
i iA A 3, 207, 600 3,207,600 | D 2,700,000 | F 2,916, 000
Bi e B 2,970,000| C 2,970,000 | E 2,500, 000 2, 700, 000
b B C/B 100. 00% | E/B 84.18% | F/A 90. 91%
ES & Ed F1EE () | #2EE (W) | #3EA (1) i &
(| BR) BIIR Y — AR 2. 850, 000 3
o AR T A (#) 9. 857, 000 4
o PIMERLE () FER
o R BT 2R
| T2 7 2 (1) iR
g () ALRBR 2, 820, 000 2
7| R AR 2, 700, 000 AL
gl R AR 9. 860, 000 5
of (R H 2, 950, 000 7
o| /MAREERS 2,930, 000 6




A L B @ R E

1 4| IHRERRGHEBZRE (T —2)

A HLHFE A B FRK 29 £ 5 H 29 R 9:45 RO Gk | BABS AL

A AL BATHET | AR F— S " | EERER

AR (1) TEAAE (1) R AR RAf RS () VEFLAE (1)

Bl A A 6,901, 200 6,901,200 | D 5,400,000 | F 5, 400, 000

i e B 6,390, 000| C 6,390,000 | E 5, 000, 000 5, 000, 000

b B C/B 100. 00% | E/B 78.25% | F/A 78. 25%

¥ & 4 F1EE () | #2EE (W) | #3EA (1) &

| T=r e

o| (F) HEHUE 6, 200, 000 6

5| FRIHEAT () st

4| OB BRI R R T st

g (BR) A R 6. 090, 000 5

6 HONHEREE (BK) 6, 050, 000 4

;| ) b TR Hef

g WETZ /7 (BK) Kotk

of R ¥~ MR o B3 6. 200, 000 6

10 %%%a% A ) s 5. 000, 000 ) AL
Lp| ERIERGE () # B3OS 5. 800, 000 5

1o FHTEAN () 45 o By 3P et

13 }f(%&%%;i TA =R 5, 750, 000 2
No.l, No3, No4, No7, No8, Nol2id, HCHIFRMAS (CHi7z 72T, Kk & LT,




A KL & B’ &
(G 4| HKERRGIHERZGE (Wr—1)
A ALHFE A B FERK 29 5 H 29 H 10:00 K J7 ik | BABSAL
A K BATH T | AR Y — SEE B B3| EERH
EHE (M) TREAmE (F) AR FRAT A% (F) wALFE (1)
Bl A A 19, 990, 800 19,990,800 | D 15,552,000 | F 15, 644, 880
B $h | B 18,510,000 | C 18,510,000 | E 14, 400, 000 14, 486, 000
b e C/B 100. 00% | E/B 77.80% | F/A 78. 26%
ES #H 4 F1EE (M) F2EE (M) F3EE (M) i &
) N (BR) 17, 500, 000 9
2 zéﬁ) Hrrwr =707 % 18, 000, 000 14
5 é%*—i74)3;>'57 (BR) Nk 3 16, 300, 000 A
| BB ARG s b 17. 500, 000 9
5| W) Y=—mEAT v 18, 200, 000 15
g (PR BRLLAL 17, 400, 000 8
7(%)%%?&% b
8 B.a(%%%wty:’yﬁ”ayh 15, 500, 000 2
9 ﬂé%k)%%ﬂﬂi\/\y:T V7 B 14, 486, 000 1 VL
10l @B FERRFT BT B RN HR
1 i(%) WPEa Lz s b BE 17,900, 000 13
12 5 Wy PR 17, 310, 000 7
13%%)%#%%$%ﬁﬂﬁiﬁﬁ 17, 600, 000 1
14(%)M%%%W$£$%ﬁ 16, 684, 000 5
15§Q%Eﬁmﬁﬁﬁﬁ:éwki 15, 730, 000 5
6 5 e ey 17, 000, 000 6

KBTSV PIT U7, NoTid, AARHIBRAGAR IS 72 e 7zsd . Rkg & LT,




A & B F &
: 4 HKERBRGHEES R (W —1)
AN AL #FE H B YRk 29 £ 5 H 29 H 10:00 2K 5 | BaESe AL
A K BATE T | AHOKALER X — SE=E £ & B &R
FREHEE (M) T EMFE (M) Fe A PRAR S (F9) PEALEE ()
i A A 19, 990, 800 19,990,800 | D 15,552,000 | F 15, 644, 880
B % B 18,510,000 | C 18,510,000 | E 14, 400, 000 14, 486, 000
I = C/B 100. 00% | E/B 77.80% | F/A 78. 26%
ES = 4 w1EE () w2mEE (1) F3mEE (M) i &
17 (BR) WHFNG%RF 85 EHEAT 17, 800, 000 19

KBTSV PIT U7, NoTid, AARHIBRAGAR IS 72 e 7zsd . Rkg & LT,



A KL & B’ &
(4s 4 KB RRGEB LRt (—AR)
A ALHFE A B FERK 29 5 H 29 H 10:15 K J7 ik | BABSAL
A K BATH T | AR Y — SEE B B3| EERH
EHE (M) TREAmE (F) AR FRAT A% (F) wALFE (1)
B A | 14, 677, 200 14,677,200 | D 11,448,000 | F 12, 420, 000
B % | B 13,590,000 | C 13,590,000 | E 10, 600, 000 11, 500, 000
It e C/B 100. 00% | E/B 78.00% | F/A 84. 62%
ES #H 4 F1EE (M) F2EE (M) F3EE (M) i &
MR ) 2. 600, 000 )
2 zéﬁ) Hrrwr =707 % 13, 000, 000 9
g hBAT s ) UER | g ;
4 (B0 RARBGE= S b 12, 900, 000 7
5| W) Y=—mEAT v 13, 300, 000 15
g (PR BRLLAL 13, 000, 000 9
7| (PR BOAUEAR 12, 500, 000 5
8 B.a(%%%wty:’yﬁ”ayh 11, 500, 000 1 kL
o () SO =T ) o
10(%)%&%$%ﬁwﬁiiﬁ HR
1 i(%) WPEa Lz s b BE 13, 100, 000 7
12 5 Wy PR 13, 080, 000 13
IB%H)ﬁ#%%$%ﬁﬂﬁiﬁﬁ 13, 000, 000 9
14(%)M%%%W$£$%W 12, 240, 000 4
15%@%5K*%%%ﬁ:éwki 11, 700, 000 9
6 5 e ey 13, 000, 000 9

K—PIT AT IV BAT L7720, FEITHAT LI AFLIZRB W THALE & e - 123813,

Ko,

ZDOMNLIZBINT LBk A




A & B F &
: 4 HKEIRRGH SR (—AR)
AN AL #FE H B YRk 29 £ 5 H 29 H 10:15 2K 5 | BaESe AL
A K BATE T | AHOKALER X — SE=E £ & B &R
FREHEE (M) T EMFE (M) Fe A PRAR S (F9) PEALEE ()
i A A 14, 677, 200 14,677,200 | D 11,448,000 | F 12, 420, 000
B % B 13,590,000 | C 13,590,000 | E 10, 600, 000 11, 500, 000
I = C/B 100. 00% | E/B 78.00% | F/A 84. 62%
ES = 4 w1EE () w2mEE (1) F3mEE (M) i &
17 (BR) WHFNG%RF 85 EHEAT 12, 900, 000 7

K—PF ARSI PIT L7272, SRl BUT LI ARSI W THRALE & 72 o 12813,

Ko,

ZDOMNLIZBINT LBk A



